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QUESTION 1

You want to configure interface ge-0/0/3 to transition to an inconsistent role in the blocking state when it receives a
superior BPDU. Which command would you use? 

A. set interfaces ge-0/0/3.0 no-root-port 

B. set protocols rstp interface ge-0/0/3.0 root-protection 

C. set protocols rstp interface ge-0/0/3.0 no-root-port 

D. set interfaces ge-0/0/3.0 root-protection 

Correct Answer: C 

 

QUESTION 2

-- Exhibit ? 

-- Exhibit -
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Based on the exhibit and assuming default port costs, in which RSTP port role and state is Switch C\\'s interface
connecting to Switch B? 

A. root, forwarding 

B. alternate, discarding 

C. alternate, forwarding 

D. designated, forwarding 

Correct Answer: B 

 

QUESTION 3

Which statement describes the role of an OSPF ASBR? 

A. It is used to inject external routes into OSPF. 

B. It is used to export internal routes from OSPF. 

C. It is used to connect a nonbackbone area to Area 0. 

D. It is used to connect a nonbackbone area to Area 1. 

Correct Answer: A 

 

QUESTION 4

-- Exhibit -{master:0} user@switch> show virtual-chassis status Virtual Chassis ID. dd7e.1747.4783 Virtual Chassis
ModE. Enabled Mastership Neighbor List Member ID Status Serial No Model priority Role ID Interface 0 (FPC 0) Prsnt
BM0208105168 ex4200-24t 255 Master* 1 (FPC 1) NotPrsnt BM0208124231 ex4200-24t Member ID for next new
member: 2 (FPC 2) -- Exhibit -Referring to the output shown in the exhibit, which two statements are true? (Choose
two.) 

A. The GbE interfaces associated with the device would use the ge-0/0/x naming format. 

B. The GbE interfaces associated with the device would use the ge-1/0/x naming format. 

C. If a new member is added to this Virtual Chassis, it would assume the Routing Engine role. 

D. If a new member is added to this Virtual Chassis, it would assume the line card role. 

Correct Answer: AC 

 

QUESTION 5

Based on the output shown in the exhibit, which statement is correct? 
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A. The ge-0/0/9 interface is using the default priority value. 

B. This switch has a bridge priority of 32k. 

C. This switch has been elected as the root bridge. 

D. The ge-0/0/15 interface is using the default port cost. 

Correct Answer: C 
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